
Scientists are considering sending humans to Mars ,but according to reading there are some unresolved problems that should be solved first. The lecturer thinks these problems have been solved before or can be solved easily.
The first problem mentioned in the passage is that because the trip to Mars will take at least two years, astronauts need a huge amount of food, water and oxygen which cannot be carried by limited capacity of space vehicles. The lecturer suggests a solution for this problem which is a way to grow plants in water instead of soil. In this way the astronauts can produce their own food. Additionally, the waste water of growing plants can be used. Furthermore, the plants can absorb carbon dioxide and produce oxygen. Hence, in this way the food, water and oxygen problem can be solved.
The second problem mentioned in the reading is that zero gravity in long period of time can cause physical problems for astronauts. For instance, it can cause muscle mass to decrease or it can lower bone density. The lecturer thinks this problem can be solved easily. She suggests that regular exercise can prevent muscle mass reduction, and eating vitamins and minerals can prevent bone density lowering.
The third problem addressed by the passage is that space radiation which is mostly coming from sun, can cause serious problems for astronauts because they do not have earth’s magnetic field protection, and constructing a shield that would protect the whole spaceship is impossible because it weighs a lot. The lecturer thinks that the dangerous radiation is not produced always and it can be monitored, so when the radiation is dangerous, astronauts can notice that and go to a small shield which is not protecting the whole spaceship, so it does not weigh too much.
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